WLZ#5-F17

R R BN

A:Es
E B: RS F
G| = .
O+ a-H ¢
I o D 2.\
S—r— S L Jr—
|
o pp=lie oL )
EEREEFEE J
© ' B0
O} -
M
® |EO 1}
EER -
N
B S TiA 5t ABRE |ABREARZ| BFHE |BHEELAE C D E F G 4-H I J K
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (MxP) (mm) (mm) (mm)
WIUJZ-16DW | 1Z#ER 16 0~-1 21 0~2 5 24.8 8 4 7 M3x0.5 7.5 23 38
WIJZ-20DW TR 16.5 0~-1 26.5 0~2 8 32 10 5 9 M4x0.7 94 27 50
WIJZ-16DN BER 6.5 0~-1 12 0~2 5 24.8 8 4 7 M3x0.5 7.5 23 38
WIJZ-20DN gy 7 0~-1 17 0~2 8 32 10 5 9 M4x0.7 94 27 50
B g L M N (0] P Q R S T 2-U 2-V 4-W E5 1] RO
=W (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (MxP) (MxP) (MxP) (MxP) (MxP)
WIJZ-16DW 425 24.5 24 16 30 235 15 22 30.5 M4x0.7 M4x0.7 M4x0.7 M4x0.7 M4x0.7
WIJZ-20DW 52.8 29 30 18.5 35 275 18 32 42 M5x0.8 M5x0.8 M5x0.8 M5x0.8 M5x0.8
WIJZ-16DN 425 24.5 24 16 30 235 15 22 30.5 M4x0.7 M4x0.7 M4x0.7 M4x0.7 M4x0.7
WIJZ-20DN 52.8 29 30 18.5 35 275 18 32 42 M5x0.8 M5x0.8 M5x0.8 M5x0.8 M5x0.8




